EARAROBREBRT —5 XN—ZXBISH—F

20224E128188 (H) mlfntE2H

U SFR2% 1 450FE

‘(fﬁ} W ‘I%EH?’JFE‘?] | & 1500 =

[AE%] 17%&:1,900,000 9 ~ 237&:760,000 37&:475,000 435:285,000 @ . 53&:190,000 M

IR RESS /M 3 BF (FB) |94L (EFD | BBIEM | b3F [SiER | AR | #8 | B8 R / B / £E%S
1177 NOIIWI14va * 2 Egg{a}a%;’a 1:(4_2)'7 Xrr2 | B9) - > ?_Gf) giég(%ﬁ)
R:LYRI7ZIVIR #B:RAI—O—7T e
= _ 2 | KB&EZ 1:43.2 1-1-1-1 | 44.8| — 4 495 | EEEEE (AoiE)
2|5/5|YV10/3579 5.0 @ 17 () |EBE—
RiARASKR=—9 B:HBI5Ja/— FERUS
=5 AR : 65 _ SRS (L
3 3 ry—F+=S5T)L 4 2 ASZ.OE 1.61:3.0 6-6-5-5 | 44.3 7 (4_69(; %#E%; (fat8)
RIARD—=ILYF— B:HSRUINL il SR
~ S 2 | EffES 1:44.1 3-4-3-4 | 45.1| - 1 481 | WAZE (fotE)
418|8|TVIANRY VIV i 55.0 ) -6) b—ir>—E ()
R:ZAEIWN=T B:F4—TU-X patlastave
— s AHIEE : -3-4- - GHES (o)
5010177y vIR 250 1'?55)'1 AR R ? (ﬁi) BAEdh
RiboO—ILR B:FUV—RYv VT« #FA Bsh
o) 1S R BAIRE : -5-6- = TELARL) (H8HE)
oWl 4| LY RN=F1— "2ED 1'(43'4 AN ° 3_757) HEREA
RYNITSUY BN—F4T) Sl
N LLIlEER 1= - - - - FHE (IE
x 2| E—URAH o2 g s 7-7 3 (4_531) %é?IE( )
RiF4RIU—brFrvyv b B:EIVNIETY INANAT7—L
~ » n b ol — - —_ _ _ _ \H
. 6 995 T )Lik—~A 4 2 SﬁgT%LJIEE ) 5 %ﬁﬁ% (Rat8)
RPAUAYRA NIA Y~ B:DYFTILAEY— HAaHt FR—RT7—A
@ 11— —BBIEfI
1T=zr= 5,7.8,1,4,3,2
20— — 5,7.1,8,4,3,2
30—3— |[5,7.8,1.3.4
43—F— 5,7,1,8,3,4
o ILRE
B B 7 2,400 JA R 5-7 1,200/ B E 5-7 3,760 3EE 3-5-7 16,820M4
7B B 7 910M 3-7 2,640 =51 7= 12,5904 3EH 7573 192,170H
5 3504 3-5 1,740

ABIC OV TRUTEREERRODDZE. THRIIZEL.




